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Part A (10 x 2 =20)

Answer all questions.

1. What is differentiation?

UMSBUIL_6) GTETDITED 6TEITEn?

2. Find the derivative y =%x3/ Z.

UM &E6l&(Lpellener searL_hls y=%x3/2 4

3.  What is a maximum?
QLRI eTETMTED GT6MTEN?

4.  Find the second order derivative y=4x".
@reTmb Heve cimss0speiaman samfle y=4x".

5. What is total differentiation?

QLTSS UESUAL 6 GTETDTE ETEITE?



10.

11.

What are the two partial derivatives, if z=f (x, y)?

2=f(x, y) crafled @ L@ euans:&06ls(pdeHeT Wmeneu?

What do you mean by optimization?

2 ghlaneLhsss crarug GNsg BellT Mg wing?
Define producer's equilibrium.

2_HUSSWTET FOIBlENE) GTETLISENET GG T

What is objective function?

G&DISCHTET FTITL| GTGTDITCD GTEITET?

What are the inequalities in linear programming?

Crflw L 1OL_ed FoafledlseT eramienal wWmenel?
Part B (5 x5=25)
Answer all questions, choosing either (a) or (b).

(a) State any five rules of differentiation with example.
auansWilLaussrear griyseiiev gCgad mhSlamer  ga
cllemd @s.

Or

(b) Differentiate the following:

@ y=(4x>-3)(2x")

. 3x® —4x”

i =

) vy e
Wemeu(meuaralhenm euansudl(hs
@ y=(4x>-3)(2x")

. 3x® —4x”
11 = —————
) vy e
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12.

13.

(a)

(b)

(a)

(b)

Write and explain the conditions of maxima and
minima of a function.

(T g e Gu(mid LHMILD GnIS S ene
sewrL_Pleughsmen HlUbsmersamer eT(Lpdl 6lers@s.

Or

Find the profit maximizing output, when total
revenue and total cost functions of a firm are

TR = 4350 @ — 13Q* and
TC=Q®-5.5 Q* + 150Q+675, respectively.
TR = 4350 @ — 13Q* womib

TC=Q"-5.5Q* +150Q+675 <yHwumes ePCL

@@ Hneasdear Cbrss eu@meury wLOHML CbTSS
Qeeals smiyser eafld o ssblenew @Qemugdleaner
SjaflgEh Hunmer ereilenar serLPls.

What is partial differentiation? Explain the
technique of it.

UGS eumsull e eTarmTe eremen? g6 ML LiSSlanen
Al EACES

Or

Find the second order partial derivatives when
Z=(23c2 + Gy) (5x—3y3).

Z=(2x2+6y)(5x—3y3) aafl  @rewLmbd  Hlene

UMEEC & (LSS &evrLMls.
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14.

15.

(a)

(b)

(a)

(b)

What 1is constrained optimization? Explain it
through indifference curve analysis.

QU TIIEDWLET Fnlgll 2 SSHlenlIL(HSFHISOD cTeTmmed
cranan? Digenen FCHTEHE euamerGaTl_(h UGUUTLGY
epeLd ellerd @ s.

Or

If z=x®+3x*-18xy+1.5y* +17, then find

(1) second order direct partial derivatives,

(i) prove that two second order cross partial
derivatives are equal.

z=x"+3x% -18xy+1.5y* +17 erafled

1) Cprg @rawrimd  Bleve  cuanss6ls(pdHsaer
ST &

i) @m Qrarmbd Bl GNEE umEsEEspSsET
FLOLDTGTENGL GTEILIGEMET [HlermLal.

Explain the assumptions of linear programming.
Criflw Sl 10lL_edlei janipmemmhisaner alems @s.
Or

Construct and explain a linear programming
problem which involves three different kinds of
furniture used by three different machine processes.

eperm FLGUTHLGaner epemm @QuibSlrhisatien epaLd
Qewiu@eugnasrer  Crilu L0  samsdlanen
2 (HeunsSl, Digern LGHlaamer allers@s.
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16.

17.

18.

19.

Part C (3 x 10 = 30)
Answer any three questions.

Discuss the application of differentiation in economic
analysis.

Qumrmeflwe uElumield emasulLeler LweTUT(HEmeT

elleumd).

Find the average fixed, average variable and marginal
cost functions from the avenge cost function of a firm:

AC = % +5 - 3Q +2Q°.

Yemeumpd symems Gewels smmiedlmpbgl, Hlavowner syrems
Qeewa|, wrmbd grefl Cdgwey wHmD @Qmblae CFwe s

srysaer savrLMg : AC = % +5 - 3Q+2Q%.

Minimize cost function C=5x%+2xy+3y*+800 subject to

the production quote x+y=30.

x+y=30 GTETM 2 HUSEL LIBISETEN 6L Q& messr
C=5x%+2xy+3y*+800 eramm Qurss Ceweyd grilen WBFm

U9 enerr &evrL_MHs.

Discuss the concept of producer's equilibrium through

optimization technique.

2 Hugdlwmer FLoiblenay BimeiliLheusenen

2 &5 LBlen@LILIHSSE BILLILD APELDTS 6l 6md: @
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20.

Solve the following LP problem by graphical method:

Max 7 = 40x +30y

Subject to
5x+2y<30
2x+4y<28

y<6
x,y 20

Gevreu(md Crflw S L8l samsdlena euenruL (wpenmudlled S :

BuG@um 7 = 40x +30y

S (humr(h&er
5x+2y<30
2x+4y<28

y<6
x,y 20
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